

All plans meet Massachusetts Minimum Creditable Coverage (MCC) requirements

| Product | Deductible | Out-of-Pocket Max | PCP OV | Specialist OV | Rehab PT/OT (60 visits) | Chiropractic | ER | Day Surgery | In-Patient Admission | High cost Imaging | Pedi Dental | RX Retail | RX Mail |
|--------------------------|-----------------|----------------------|------------------|-------------------|-------------------------------|--------------|----------------|----------------|-------------------------|----------------------|----------------|--------------|---------------|
| SMALL GROUP HMO | | | | | | | | | | | | | |
| Mar Day JUMO | | | | | | | | | | | | Tier 1- \$15 | Tier 1- \$30 |
| MyDoc HMO Platinum Basic | \$0/\$0 | \$3,000/\$6000 | \$25 | \$40 | \$40 | \$40 | \$150 | \$500 | \$500 | \$150 | YES | Tier 2- \$30 | Tier 2- \$60 |
| r ideilidiii busic | | | | | | | | | | | | Tier 3- \$50 | Tier 3- \$150 |
| MyDoc HMO | | | | | | | | \$500 | | | | Tier 1- \$5 | Tier 1- \$10 |
| Platinum Extra | \$0/\$0 | \$6,000/\$12,000 | \$5 ¹ | \$15 ¹ | \$15 | \$15 | \$250 | | \$1,000 | \$250 | YES | Tier 2- \$25 | Tier 2- \$50 |
| Value | | | | | | | | | | | | Tier 3- \$50 | Tier 3- \$150 |
| 14 D 1114 O C - 1-1 | \$500/\$1,000 | \$3,250/\$6,500 | | \$35 | \$35* | \$35 | 30%* | 30%* | 30%* | 30%* | YES | Tier 1- \$15 | Tier 1- \$30 |
| MyDoc HMO Gold Basic | | | \$20 | | | | | | | | | Tier 2- 50%* | Tier 2- 50%* |
| Busic | | | | | | | | | | | | Tier 3- 50%* | Tier 3- 50%* |
| 14 D 1114 O C - 1-1 | \$1,000/\$2,000 | | | \$45 | \$45 | | | | \$500* | \$200* | | Tier 1- \$20 | Tier 1- \$40 |
| MyDoc HMO Gold Plus | | \$5,000/\$10,000 | \$30 | | | \$45 | \$150* | \$250* | | | YES | Tier 2- \$30 | Tier 2- \$60 |
| . 145 | | | | | | | | | | | | Tier 3- \$50 | Tier 3- \$150 |
| MyDoc HMO Gold | \$1,000/\$2,000 | \$4,000/\$8,000 | | \$40 | \$40* | \$40 | \$150* | Sbj to ded* | Sbj to ded* | | | Tier 1- \$15 | Tier 1- \$30 |
| 1000 | | | \$20 | | | | | | | \$150* | YES | Tier 2- \$30 | Tier 2- \$60 |
| 1000 | | | | | | | | | | | | Tier 3- \$50 | Tier 3- \$150 |
| MarDoc LINAO Cold | | \$5,000/\$10,000 | | | \$40* | | \$150* | | \$250* | | | Tier 1- \$15 | Tier 1- \$30 |
| MyDoc HMO Gold 1500 | \$1,500/\$3,000 | | \$25 | \$40 | | \$40 | | \$250* | | \$150* | YES | Tier 2- \$25 | Tier 2- \$50 |
| | | | | | | | | | | | | Tier 3- \$50 | Tier 3- \$150 |
| MyDoc HMO Gold | | | Shi to | Sbj to | | | Shi to | Sbj to | | Shi to | | Tier 1- \$15 | Tier 1- \$30 |
| 2000 | \$2,000/\$4,000 | \$2,500/\$5,000 | Sbj to ded* | ded* | Sbj to ded* | Sbj to ded* | Sbj to ded* | ded* | Sbj to ded* | Sbj to ded* | YES | Tier 2- \$30 | Tier 2- \$60 |
| | | | 200 | | | | ueu | 555 | | | | Tier 3- \$50 | Tier 3- \$150 |
| MyDec IIMO Cald | | \$4,000/\$8,000 | | | \$50* | \$50 | \$150* | Sbj to ded* | Sbj to ded* | Chi to | | Tier 1- \$15 | Tier 1- \$30 |
| MyDoc HMO Gold 2050 | \$2,050/\$4,100 | | \$25 | \$50 | | | | | | Sbj to ded* | YES | Tier 2- \$30 | Tier 2- \$60 |
| | | | | | | | | | | 202 | | Tier 3- \$50 | Tier 3- \$150 |



All plans meet Massachusetts Minimum Creditable Coverage (MCC) requirements

| Product | Deductible | Out-of-Pocket Max | PCP OV | Specialist OV | Rehab PT/OT (60 visits) | Chiropractic | ER | Day Surgery | In-Patient Admission | High cost Imaging | Pedi Dental | RX Retail | RX Mail |
|--------------------------|---|----------------------|-----------|------------------|-------------------------------|--------------|----------------|----------------|-------------------------|----------------------|----------------|---------------------------------|---------------------------------|
| M. D 111140 | \$1,750/\$3,500 | | | | | | | | | | | Tier 1- \$20 | Tier 1- \$40 |
| MyDoc HMO Silver 1750 | (Separate Rx | \$6,600/\$13,200 | \$30 | \$50* | \$50* | \$50* | \$350* | \$250* | \$1,000* | \$400* | YES | Tier 2- \$40* | Tier 2- \$80* |
| | \$250/\$500) | | | | | | | | | | | Tier 3- \$70* | Tier 3- \$210* |
| MyDoc HMO | | | | | | | | | | | | Tier 1- \$13 | Tier 1- \$26 |
| Silver Plus | \$2,000/\$4,000 | \$7,150/\$14,300 | \$15* | \$45* | \$45* | \$45* | \$350* | \$750* | \$1,000* | \$400* | YES | Tier 2- \$30* | Tier 2- \$60* |
| | | | | | | | | | | | | Tier 3- \$50* | Tier 3- \$150* |
| MyDoc HMO | | | | | \$50 | | | 700* \$750* | \$1,000* | | YES | Tier 1- \$20 | Tier 1- \$40 |
| Silver Basic | \$2,000/\$4,000 | \$7,150/\$14,300 | \$30 | \$50 | | \$50* | \$700* | | | \$500* | | Tier 2- \$60 | Tier 2- \$120 |
| | | | | | | | | | | | | Tier 3- \$90 | Tier 3- \$270 |
| MyDoc HMO | \$2,050/\$4,100 | \$7,150/\$14,300 | | \$50 | \$50* | | | | | \$500* | | Tier 1- \$30 | Tier 1- \$60 |
| Silver Basic 2050 | | | \$35 | | | \$50* | \$350* | \$750* | \$1,000* | | YES | Tier 2- \$50 | Tier 2- \$100 |
| | | | | | | | | | | | | Tier 3- \$70 | Tier 3- \$210 |
| MyDoc HMO | \$3,000/\$6,000 | \$4,500/\$9,000 | | 10%* | 10%* | | | | | | | Tier 1- \$15* | Tier 1- \$30* |
| Silver HSA 3000 | | | 10%* | | | 10%* | 10%* | 10%* | 10%* | 10%* | YES | Tier 2- \$30* | Tier 2- \$60* |
| | | | | | | | | | | | | Tier 3- \$50* | Tier 3- \$150* |
| MyDoc HMO | \$1,750/\$3,500 (Separate Rx \$250/\$500) | \$6,600/\$13,200 | 450* | \$80* | \$80* | \$80* | \$750* | 35%* | 35%* | d4 000* | VE6 | Tier 1- \$30* | Tier 1- \$60* |
| Bronze 1750 | | | \$50* | | | | | | | \$1,000* | YES | Tier 2- 50%* | Tier 2- 50%* |
| | | | | | | | | | | | | Tier 3- 50%* | Tier 3- 50%* |
| MyDoc HMO | \$2,500/\$5,000 | ¢7.450/¢4.4.200 | ¢2E* | ¢50* | \$50* | 4-04 | 4750* | \$1,000* | \$1,000* | \$1,000* | YES | Tier 1- \$30 | Tier 1- \$60 |
| Bronze 2500 | (Separate Rx \$500/\$1,000) | | \$25* | \$50* | | \$50* | \$750* | | | | TES | Tier 2- \$75* | Tier 2- \$150* |
| | | | | | | | | | | | | Tier 3- \$100* Tier 1- \$25* | Tier 3- \$300* Tier 1- \$50* |
| MyDoc HMO | \$2,750/\$5,500 (Separate Ry | \$7,150/\$14,300 | \$25* | \$40* | \$40* | \$40* | \$500* | \$1,000* | \$1,000* | \$1,000* | YES | Tier 2- \$75* | Tier 2- \$150* |
| Bronze Standard | (Separate Rx \$250/\$500) | \$1,150/\$14,300 | رير | Ş4U · | 34U · | \$40 · | \$500 <i>*</i> | \$1,000 | \$1,000 | \$1,000 | ILJ | Tier 3- \$100* | Tier 3- \$300* |
| | | | | | | | | | | | | Tier 1- \$25* | Tier 1- \$50* |
| MyDoc HMO | \$3,400/\$6,750 | \$6,550/\$13,100 | \$50* | \$80* | \$80* | \$80* | 35%* | 35%* | Sbj to ded* | \$1,000* | YES | Tier 2- \$75* | Tier 2- \$150* |
| Bronze HSA 3400 | ,-,0∪, ,0∪,/ 3U | 70,550/515,100 | 750 | 700 | 900 | 700 | 33,0 | 33/0 | | ψ±,000 | 123 | | |
| | | | | | | | | | | | | Tier 3- \$100* | Tier 3- \$300* |



All plans meet Massachusetts Minimum Creditable Coverage (MCC) requirements

| Product | Deductible | Out-of-Pocket Max | PCP OV | Specialist OV | Rehab PT/OT (60 visits) | Chiropractic | ER | Day Surgery | In-Patient Admission | High cost Imaging | Pedi Dental | RX Retail | RX Mail |
|--------------------------------------|------------------------------|----------------------|-----------|------------------|-------------------------------|--------------|--------|----------------|-------------------------|----------------------|----------------|---------------|----------------|
| SMALL GROUP PPO | 0 | | | | | | | | | | | | |
| MyDoc PPO | | | | | | | | | | | | Tier 1- \$15 | Tier 1- \$30 |
| National Platinum Basic (In-Plan) | \$0/\$0 | \$3,000/\$6,000 | \$25 | \$40 | \$40 | \$40 | \$150 | \$500 | \$500 | \$150 | YES | Tier 2- \$30 | Tier 2- \$60 |
| (Out-of-Plan) | \$1,000/\$2,000 | \$3,000/\$6,000 | \$50* | \$80* | \$80* | \$80* | \$150 | \$1,000* | \$1,000* | \$300* | | Tier 3- \$50 | Tier 3- \$150 |
| MyDoc PPO National Gold | \$500/\$1,000 | \$3,250/\$6,500 | \$20 | \$35 | \$35* | \$35 | 30%* | 30%* | 30%* | 30%* | VEC | Tier 1- \$15 | Tier 1- \$30 |
| Basic (In-Plan) | | | | | | | | | | | YES | Tier 2- 50%* | Tier 2- 50%* |
| (Out-of-Plan) | \$1,500/\$3,000 | \$3,250/\$6,500 | 20%* | 20%* | 20%* | 20%* | 30%* | 50%* | 50%* | 50%* | | Tier 3- 50%* | Tier 3- 50%* |
| MyDoc PPO National Gold | \$1,000/\$2,000 | \$4,000/\$8,000 | \$20 | \$40 | \$40* | \$40 | \$150* | Sbj to | Sbj to ded* | \$150* | YES | Tier 1- \$15 | Tier 1- \$30 |
| 1000 (In-Plan) | \$1,000/\$2,000 | \$4,000/\$8,000 | 32U | 340 | 340 | ,40 | \$130 | ded* | 3b) to ded | \$130 | | Tier 2- \$30 | Tier 2- \$60 |
| (Out-of-Plan) | \$3,000/\$6,000 | \$6,000/\$12,000 | 20%* | 20%* | 20%* | 20%* | \$150* | 20%* | 20%* | 20%* | | Tier 3- \$50 | Tier 3- \$150 |
| MyDoc PPO | 4 (4 | 1 // | 4 | | A contr | 4 | 4 | 4 | 4 | 4 | | Tier 1- \$15 | Tier 1- \$30 |
| National Gold 1500 (In-Plan) | \$1,500/\$3,000 | \$5,000/\$10,000 | \$25 | \$40 | \$40* | \$40 | \$150* | \$250* | \$250* | \$150* | YES | Tier 2- \$25 | Tier 2- \$50 |
| (Out-of-Plan) | \$3,000/\$6,000 | \$6,000/\$12,000 | \$50* | \$80* | \$80* | \$80* | \$150* | \$500* | \$500* | \$300* | | Tier 3- \$50 | Tier 3- \$150 |
| MyDoc PPO National Gold | ¢2.000/¢4.000 | ¢2 F00/¢F 000 | Sbj to | Sbj to | Ch: to dod* | Chita dad* | Sbj to | Sbj to | Sbi to ded* | Sbj to | | Tier 1- \$15 | Tier 1- \$30 |
| 2000 (In-Plan) | \$2,000/\$4,000 | \$2,500/\$5,000 | ded* | ded* | Sbj to ded* | Sbj to ded* | ded* | ded* | Sb) to ded | ded* | YES | Tier 2- \$30 | Tier 2- \$60 |
| (Out-of-Plan) | \$3,000/\$6,000 | \$4,000/\$8,000 | \$25* | \$40* | \$40* | \$40* | SDJ to | \$500* | \$1,000* | \$250* | | Tier 3- \$50 | Tier 3- \$150 |
| MyDoc PPO | \$1,750/\$3,500 | | | | | | | | | | | Tier 1- \$20 | Tier 1- \$40 |
| National Silver 1750 (In-Plan) | (Separate Rx \$250/\$500) | \$6,600/\$13,200 | \$30 | \$50* | \$50* | \$50* | \$350* | \$250* | \$1,000 | \$400 | YES | Tier 2- \$40* | Tier 2- \$80* |
| (Out-of-Plan) | \$3,750/\$7,500 | \$7,500/\$15,000 | 20%* | 20%* | 20%* | 20%* | \$350* | 20%* | 20%* | 20%* | | Tier 3- \$70* | Tier 3- \$210* |
| MyDoc PPO National Silver | | | | | | | | | | | | Tier 1- \$20* | Tier 1- \$40* |
| HSA 2000 (In-Plan) | \$2,000/\$4,000 | \$5,500/\$11,000 | \$30* | \$45* | \$45* | \$45* | 20%* | 20%* | 20%* | 20%* | YES | Tier 2- \$40* | Tier 2- \$80* |
| (Out-of-Plan) | \$4,000/\$8,000 | \$8,000/\$16,000 | 20%* | 20%* | 20%* | 20%* | 20%* | 40%* | 40%* | 40%* | | Tier 3- \$70* | Tier 3- \$210* |



All plans meet Massachusetts Minimum Creditable Coverage (MCC) requirements

| Product | Deductible | Out-of-Pocket Max | PCP OV | Specialist OV | Rehab PT/OT (60 visits) | Chiropractic | ER | Day Surgery | In-Patient Admission | High cost Imaging | Pedi Dental | RX Retail | RX Mail |
|--|---------------------------------|----------------------|-----------|------------------|-------------------------------|--------------|--------|----------------|-------------------------|----------------------|----------------|----------------|----------------|
| MyDoc PPO National Silver Basic 2050 | \$2,050/\$4,100 | \$7,150/\$14,300 | \$35 | \$50 | \$50* | \$50* | \$350* | \$750* | \$1,000* | \$500* | YES | Tier 1- \$30 | Tier 1- \$60 |
| (In-Plan) | | | | | | | | | | | 123 | Tier 2- \$50 | Tier 2- \$100 |
| (Out-of-Plan) | \$4,000/\$8,000 | \$8,000/\$16,000 | \$70* | \$100* | \$100* | \$100* | \$350* | \$1,500* | \$2,000* | \$1,000* | | Tier 3- \$70 | Tier 3- \$210 |
| MyDoc PPO National Silver | \$3,000/\$6,000 | \$4,500/\$9,000 | 10%* | 10%* | 10%* | 10%* | 10%* | 10%* | 10%* | 10%* | YES | Tier 1- \$15* | Tier 1- \$30* |
| HSA 3000 (In- Plan) | . , , , , | . , , , , | | | | | | | | | | Tier 2- \$30* | Tier 2- \$60* |
| (Out-of-Plan) | \$5,000/\$10,000 | \$7,500/\$15,000 | 30%* | 30%* | 30%* | 30%* | 10%* | 30%* | 30%* | 30%* | | Tier 3- \$50* | Tier 3- \$150* |
| MyDoc PPO National Bronze | \$1,750/\$3,500 (Separate Rx | \$6,600/\$13,200 | \$50* | \$80* | \$80* | \$80* | \$750* | 35%* | 35%* | \$1,000* | YES | Tier 1- \$30* | Tier 1- \$60* |
| 1750 (In-Plan) | \$250/\$500) | | | | | | | | | | 123 | Tier 2- 50%* | Tier 2- 50%* |
| (Out-of-Plan) | \$3,750/\$7,500 | \$7,500/\$15,000 | 20%* | 20%* | 20%* | 20%* | \$750* | 55%* | 55%* | 20%* | | Tier 3- 50%* | Tier 3- 50%* |
| MyDoc PPO National Bronze | | | | | | | | | | | YES | Tier 1- \$25* | Tier 1- \$50* |
| HSA 3400 (In- Plan) | \$3,400/\$6,750 | \$6,550/\$13,100 | \$50* | \$80* | \$80* | \$80* | 35%* | 35%* | Sbj to ded* | \$1,000* | | Tier 2- \$75* | Tier 2- \$150* |
| (Out-of-Plan) | \$4,400/\$8,800 | \$8,500/\$17,000 | 20%* | 20%* | 20%* | 20%* | 35%* | 55%* | 20%* | 20%* | | Tier 3- \$100* | Tier 3- \$300* |

^{1.} Copay will be waived for up to 4 primary care and/or specialist office visits (combined) per calendar year for the diagnosis and management of asthma, diabetes and/or hypertension. Excludes visits for medical procedures

HSA: For our HSA plans we use Health Equity as our vendor. For more information please visit http://healthequity.com/sales/minutemanhealth/.

Additional Benefits:

Routine Preventive Care/ Screenings/ Immunization - Routine visits to your primary care provider for check-ups, screenings, and immunizations are covered by all plans.

Routine Eye Exams - All plans cover one eye exam every 12 months for adults and children.

Fitness and Weight Loss Benefits - Plans reimburse membership fees at fitness clubs like Planet Fitness, Work Out World and YMCA (per family, per member and varies by club and membership fees) and reimburse for up to a five month membership for WeightWatchers®.